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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 4 Fn044£09 7 08 H eI Dt e/ 79 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE AbE 10. 00| AHxf 85 850| 3,942| 3,456| 3,240
HOR w5 5. 00 | #Hx} 18 90| 3,780 2,970 648
H ¥ £ ¥ 15. 00| AHxf 300 4,500 1,296 999 659
T D E S 10. 00 | #H%f 680 6,800| 1,048 708 351
ESF AWII--N E % 4. 00 | FHxf 65 260 6,372 4,994| 4,752
H % i 3. 00| FHxf 13 39 1,728 1,628] 1,620
H A ] 1L 1. 00| FHxf 225 225 864 713 432
ENIEE so0lfxt| 9 15| 2,700 2,460| 2 160
A w5 5. 00 | FHx} 224 1,120 1,836| 1,525 756
= m | 0.40|#Exf| 3,060 1,224 151 124 81
= =% 4. 00| FHxf 391 1,564| 2,484| 2,029| 1,296
[N %% 5. 00| FHxf 1,131 5,655 2,160 1,741 1,296
E—< =% 0. 15| FHxf 3,774 568 70 60 49
A7 k= b AbiEiE 3. 00| FH%f 60 180 2, 560
(= = 2. 00| FH%f 16 32 972 756 540
H % - 5. 00| FH%} 160 800 1,944 1,573 756
B OF g, 10. 00| AHxf 58 580| 3,564 2,996 2,160
£ A AbifEE 20. 00 | #H 5%} 19 380 3,240 3,183 2,700
@ | 10000 #Ext|  1078] 10,780 2,376| 2,016| 1,512
LA R 5 % 10. 00 | #H%f 1, 454 14,540 2,052 1,638| 1,080
==l H A & ¥ 4. 00| FHxf 480 1,920 3,564 1,824| 1,296
Tryal— £ ¥ 4. 00| FHxf 150 600 2, 808
AEHEE w5 0. 10| #H%f | 4, 350 435 146 103 65
ZDXH E % 0. 20 | FH %} 900 180 68 61 54
LU £ B 0. 20| FA%F 300 60 87 86 85




ID:1210 pP- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )

Rz A F1044£09 H 08 H eI Dt e/ 47 b (Biir)
fh 4 JE Hh = Wae | %K F e T fE g2y ]
DOND H & 10. 00| FA % 95 950 3,564| 3,051 2, 268
2ok ol 10. 00 | #H%f 2, 791 27,910 3,456 3,043| 2,160
AL o 10. 00| AHxf 100 1,000| 4,104| 3,640| 3,240
PE & & 5. 00| FHxf 1, 379 6,895 3,564 2,376
S %3 E % 0. 35| FHxf 100 37 486 420 410
B A — % [T 2. 00 [ FH %} 60 1201 1,836 1,656 1,404
AR O 0. 60| FHxf 48 30 410 373 302
GESTE 0.30| k%t |  s70| %1 302| ot 205

NEYIN o e 10. 00 | #H%F 75 750 4, 860
e O 10. 00| AHxf 25 250| 15,120| 12,830 9,720
Avara 7 4 U E | 13.00| fE%F 114 1,482 4,342 3,648| 2,376




